SVKM’s NMIMS

NMIMS ~ GLOBAL ACCESS SCHOOL FOR CONTINUING EDUCATION

Programme: PGDBM/PGDITM/PGDSCM

Examination: December 2018 Semester: (I}
Subject: Business Statistics Course : New
Marks : 70
Date: 10.12.2016 Time: 3.00 p.m. to 6.00 p.m.

Instructions : 1) Candidates should read carefully the instructions printed on the uestions paper
and on the Cover of the answer-book which is provided for their use.
2) Answer to each new question to be stared on a fresh page.
3) Figures in brackets indicate full marks.
4) Required Statistical Tables attached. _ _
5) Only simple, ordinary calculators to be used. No other electronic devices, such
as cell-phones, laptops, i-pads, etc., to be used.

Q.1] - Attempt any 2(two) out of 4 (four) : (Marks : 2 X 5=16)
a}- The following data represents marks obtained by 120 students :

Marks Obtain : 15 610 11-15  16-20 2125 26-30
Number of Students : 6 10 16 32 24 16
Marks Obtain : 31-35 36-40 41-45
Number of Students 10 5 1
Draw a histogram for this data and hence determine the value of mode for the
distribution. '

b) - The mean wage of 100 workers in a factory is Rs.38/-. The factory has two
shifts. The mean wage of 60 workers in the morning shift is Rs.40/-. Find the
mean wage of the 40 workers working in the evening shift.

¢} Find arithmetic mean for the following data, representing marks of 80

- students :
Marks : 0-10 1020 2030  30-40 40-50
No. of Students : 12 13 21 i9 15

d) A box contains 10 electric bulbs out of which 3 are defective, 4 bulbs are
selected at random. Find the probability that they contain
(1) exactly one defective bulb,
(11) atleast one defective buib.
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b)

Write short notes on (any 2 (two) out of 5 (five)) (Marks:2X5=10)
Merits and demerits of Arithmetic mean as a measure of central tendency.

Scatter diagram with respect to Correlation analysis.

Skewness, its types and measures.

" Absolute and Relative Measures of Dispersion.

Properties of Normal Distribution.

Attempt any 3 (three) out of 5 (five) {(Marks 3 X 10 = 30)
An export agency exports tennis balls which are supplied by 3 manufacturers
A, B-and C. The balls maoufactured by them contain 3%, 4% and 1% defective
balls respectively. The demand is large and the manufacturers can supply the
tennis balls within their limitations. Because of these limitations the agencies
total export contains 50% balls manufactured by A, 30% by B and 20% by C.
To test the quality of tenmis balls, one ball is selected at random. Find the
probability that

i} ball is defective and manufactured by A.

ii) ball is defective.

i1} ball is manufactured by A given that the ball is defective.

X is a discrete random variable with the following p.m.f.

X 1 0 1 2
PG) | R+1 | 1 K | K=4
13 13 | 13 | 13

Obtain (i) Value of K, (ii) Expectation of X, (iii) Variance of X.

An automobile insurance company has found from past records that the chance
of paying off on a policy during a year is just 0.1%. Five hundred new policies
are issued in the last month. What is the chance that during the next year there
will be (i) no claim, (ii) exactly one claim, (iii} at least one claim from
amongst one of these five hundred chients ?

(You awe given that €' = 0.9048, ¢ = 0.6065, e°=0.0067)
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The data given below is distribution of monthly wages of 160 workers :

Monthly Wages | Number of Workers
(in "00Rs.)
40— 50 8
5060 10
60~ 70 16
70 - 80 25
8090 32
90 - 100 45
100110 14
110 - 120 10

Draw a less than type ogive for this data and hence determine.
1) the value of first quartile for the distribution,
i) the percentage of workers who eamed less than Rs.8500/- per
month.

_ Calculate 19 guartile, 4" decile and 76™ percentile for the following data :

Age (below) : 10 20 30 40 50 60
No.ofPersons : 11 35 350 79 89 100

Attempt both the questions : (Marks 2 X 10=20)

A wholesale distributor of a product finds that the annual demand for the
product is normally distributed with a mean of 1200 and standard deviation of
160. If he orders only once a year, what quantity should be ordered to ensure
that there is only 10% chance of running short ? Also, obtain the probability
that (1) demand is less than 1360, (ii) demand exceeds 1040.

(Given P(Z > 1.28) =0.10, P(Z > 1) = 0.15866)

The mean and variance of a binomial variate are 6 and 2 respectively. Find
D P(x>2)
i) P(X = 5)
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HL Areas ander the Normsl Curve
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TABLE OF VALUES OF a7®

—~m

m e % 4] [ hal m 2

8.1 0.98484 11 0.33287 2.5 208208
0.2 051873 12 0.30118 1.0 0.0497
0.3 8.74082 1.3 9.27253 35 B.43020
04 6.57032 14 1,24560 4.0 5.01832
0.5 0.50553 15 $.22343 5.0 000874
8.5 050881 15 9.26480 6.8 0.00748
a7 3.49559 17 6.18258 7.0 2.00081
8.8 0,44932 1.8 448630 B0 G.00434
0.9 0.40657 18 9.i4257 9.0 0.00012
10 B.36783 20 212534 je.0 0.009645

Pnﬁis%é







